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(3 Hours) - [Total Marks: 80]

N. B.: (1) Questlon No. 1 is compulsory.

(2) Attempt any THREE questions from the remaining five ¢ quesnons
(3) Assume suitable data if necessary. Foaah :
(4) Figures to the right indicate full marks.

. Attempt any four questions:

(a) Explain regenerative braking of DC motor :
(b) What are the advantages and dlsadvantages of SMPS
(c) Explain the advantages of- induction héati o
(d) Compare SVM with the conVentléna VA
(e) lee the significance of slipiin AC otors‘

(b) Derive and explam the average stat space, ]
Use this state St : e

':(p) and output voltage for a
e-pk : f _ ﬁﬂly cont_f"lled "bndge recttﬁer with source inductance,

':f..?’What are its advantages?

-slip characteristics of an

tor Wthh 1s the most stable region of operation in the

: hp characterlstlcs" Justlfy your answer with suitable ﬁgure.

'Jethod of speed control for 3-phase induction tnotor.

: vdlffer nt methods of controllmg speed of Separately excited DC

: .,moto Explam constant torque and constant power operation.
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torque of 5 NM.

6. Write short notes on (any three)

(a) Battery charging system
(b) Kramer’s drive.
(c) Classxﬁcatlon of UPS :
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